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LuSH| S s A o]l A+ 1,385,854| 1,351,005 34,849
1. SR S ARG =T 1,385,854| 1,351,005 34,849
1.8 w8 Al g = 1,385,854| 1,351,005 34,849
1.8 n g AU+ 468,892| 468,892 0
2. 5 XA u M) = 916,962| 882,113 34,849 E;i%ﬁ)gi?;i}x%i?f};z{;:]oooa ) 6,658,000
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(Eﬁg)?ﬂﬂé}@%%&ﬂﬁﬂl © 3,929,000 3,929,000
A w2 : 3,700,000 X 13l = 3,700,000
2.7)€fo] 4= 10,109 11,016 -907
1.8t 8] A1 7ol A 4] 10,109 11,016 -907
1.8t w3 Al [+ 10,109 11,016 -907
1.uEstusAHd = 10,109 11,016 -907 |3 L BFHA A wALDFAH 1 -907,0009 X 124]= -907,000
2. AHA <) 809,765 880,929 -71,164
L3R g 801,145 872,819| 71,674
1. A=) 801,145 872,819| -71,674
1.2 448,312| 448,921 -609
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AFEN(LF) © -5,276,0009 X 13]= 5,276,000
-3 Y : -7,920,0009 < 13]= -7,920,000
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Aetazts] @ -10,318,0009 X 13]= -10,318,000
wEEl A 0 -3,120,0009 < 13]= -3,120,000
Hho] &% 1 -7,920,000¢) X 13]= -7,920,000
A= 1 -10,560,0009] < 13]= -10,560,000
a2k -10,560,0009) < 13]= -10,560,000
3.8 g sk 62,018 62,018 0
1.8dA 85 62,018 62,018 0
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1.3 2d e 250 27,329| 31,245  -3,916|o}Fet : 6,121,000 X 13]= -6,121,000
HAFHS-E 0 2,205,0009 < 13]= 2,205,000
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1AM SR 4,980 5,110 -130
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1ol 2,880 2,000 830| 3] AlE ol ¢ 880,0009 X 13]= 880,000
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1.AdZo| g7 23,482 23,482 0
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